Exercise 36

36.1 Study the examples and then perform the same operation on the foilowing
- sentences. : '
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Translate into Japanese using the word 7.

The train leaves Tokyd Station at 7:15, so it would be better if you went by
- taxi.

I do think it would be better if you talked over the matter w1th your |
parents. ,

Don’t you think it would be preferable not to work too hard?

I'think it would be qulcker to go by bike because the traffic is heavy in the
morning, -

This computer is more convenient.
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36.3

Exercises and Word Lists

Translate into English.
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